MPS Model Question Paper

When was Rohini satellite launched

1999
1989
1979
1969

PwNPE

Which is the southernmost part of South America called as

Cook Island

South Sandwich Islands
Cape of Good Hope
Aguila Islet

Eal

When was telescope first patented

1608
1606
1607
1609
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The highest mountain peak of Oceania is

Mt. Victoria, Papua New Guinea

Mt. Kosciusko, Australia

Mt. Cook, South Island (New Zealand)
Puncak Jaya, Indonesia
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“Significant Others" is term coined by

Max Weber
Ferdinand Tonnies
George H. Mead?
Harry Stack Sullivan
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Which of following terms is consistent with definition? Integration is managed differently for
different groups?

Multiculturalism
Integration
Assimilation
Conformity
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What in my position? | had no other choice.

would you do

would you have done
had you done

did you do
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8.

10.

11.

12.

13.

His apology wasn't enough him.

1. solforgive

2. for me to forgive

3. that|forgave

4. for me forgiving

| always want to go alone for a ride, but my mother ----- going with my brother

Insists
Insists on
Insists in
Insisted
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The denominator of a fraction is two more than thrice its numerator. If the numerator as well as
denominator are increased by one, the fraction becomes 1/3. What was the original fraction ?

4/13
5/11
3/11
5/13
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On children’s day sweets were to be equally distributed amongst 300 children. But on that
particular day 50 children remained absent, hence each child got one sweet extra. How many
sweets were distributed?

1450
1700
1500
1650
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What is 1 percent of 0.025

1. 0.0025
2. 0.00025
3. 0.000025
4. 0.25

What is the maximum number of elected members in a State Assembly?

250
500
300
600
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14. Which nutrient is most likely to be affected by food processing and storage?

1. Proteins
2. Carbohydrates
3. Vitamins



4. Fats

15. Which year Ms. Kalpana Chawala made her space mission?

1988
1997
2001
2003
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16. Which of the following is wrongly matched?

Badminton (Single): 10 ft x 44ft
Hockey: 100 yards x 55 yards
Volleyball: 30 ft X 30 ft

Lawn Tennis: 78ft x 36ft

Mo

17. Rust is:

powdered iron
ferrous oxide

ferric oxide
hydrated ferric oxide

Mo

18. Which of the following disease is not caused by virus?

Ranikhet (New Castle) disease
Blue tongue

babesiosis

Marek’s disease
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19. 42, 40, 38, 35, 33, 31, 28....choose which pair of numbers comes

1. 25,22
2. 26,23
3. 26,24
4. 26,23

20. The treatment of environmental pollution with the help of micro-organism is known as

Bioremediation
Biomagpnifications
Biological magnification
Zoo remediation
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